N = 0l & AF & F Al A

2000 = =0l & 2 BHa A

A HEZstal 2
. 4ol A (AEX/ES - IHIELHY)
Hd=2stsl2 29 CER:E

SN (B) - MBEAY - B2 0f Ao Soe HRZ2
=33 & 1,393,889 1,224,240 169,649
= 253,484
= 110,123
Al 1,030,282
Holz M (AB=X /2R - HELHA) 1,220,969 1,044,785 176, 184
= 253,484
= 110,123
Al 857,362
A2 29 290,264 216,838 73,426
HeZ3slat 289 L AIE2 A2 290,264 216,838 73,426
101 Q14| 9,167 10,613 A 1,446
10 JIZHZ22XNsEES 9,167 10,613 AN 1,446
OBRAEH 022 33,5003 1 250 8,375
O40i2dg 1282 8,375,000 *9.45% 792
201 B2 181,179 165,095 16,084
01 ArS2t2| bl 52,947 43,083 9,864
O1.Yb8t=2H| 48,755
-HE 2332 JlEt+=2H| 4,000,000 4,000
-HAEE 7L 80,000& x12& 960
-3I&A 2AL2E P 2,400
SteFdl 2 MEA 100,000& x12& 1,200
HBE(SEA) 60,000& 58 A x43| 1,200
-RE MAMADE 2 7,155
T2l EY 250,000& *3CH *4 3| 3,000
SAE X 2,755
* A4 18,7003 x50t A x23| 1,870
* B4 29,500& x158t A *23| 885
SAI EYH 350, 000& *x2[H*23] 1,400
-ROoIgA L2 165,000 =128 1,980
~&J|etM e |2 300,000& x12& 3,600
QTR AL HHE=E2
400,000& x12& 4,800
-SdJ|8EUH == 260,000& x12& 3,120




SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
AU UB L5 1,000,000& *13] 1,000
“HANFAHE S 800,000& x12& 9,600
-SE¥HI3FEASSE 8,000& *140E *23| 2,240

50,0003 *1CH+ 123 600

200,0002! * 18] 200
—QAHGEHLS 800,000 *13] 800
~HALE E Z Y| 4,800
gES-EE 30,0002 *3074 £ +23] 1,800
TR (DE) P Y 10,0002 +307H A 3,000
~HECHA HERY 500,000% 500
-PSA DSSE U HZRY
1,000,000} 1,000
O2.912 S| 160
~Aggsie X Nens 2 el
80,0002 <22 160
O5.2 2| 4,032
~014 253 BEY OFA22R SA
7,000 582 x6 2+ 122 4,032
02 BT 128,232 122,012 6,220
O1.BZR3LHA 69,800
-®I|23 3,000,0008! *122 36,000
—HAWLRYS 1,000, 000! *23| 2,000
-DERYRYS 700,000% 15| 700
~OIE{ W T 2} X} 3l 4 b 400,0008! * 1284 4,800
~MBHEE AR R 1,500,0002! * 122 18,000
SbAAAR A B2 300,0002! *13] 300
1] 8,000
AL 3,000,0002! *13] 3,000
= 5,000,0002! *13| 5,000
O2. 92| 24,834
- - )| 24,834
"k BOOR! 64T *BA| 249521 +0.5 19,456




FAM: HdZstal 2
B ofdole AN (AMEISK/ES - HEL0A)
&2l e Zstsl2 2Z (el &)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
c gt 5303 *64m *8A| 2t*402 0.5 5,428
O3. A& & dl = X8l 33,548
ar—2o NNl 2,086 *4,481m’ 9,348
- D N2 26,0002 *200RT 5,200
-SXI|IRXEH| 300,000& =47 1,200
-BO 2 PHRXEH 150, 000& *20CH 3,000
- SAIE RN 2t 1,000,000 1,000
-AYAE R E =] 2,000,000& 2,000
-SZJ IR XN 24| 800,000 800
-MIIAE 7 X E == 2,000,000& 2,000
-LeHMelAE R E sl 2,000,000& 2,000
“CHZZTAOIXIOl 024 = X 2 ==t
1,000, 000& 1,000
-EXIIZ2R X E 4| 1,000, 000& 1,000
=G A LU KX 24| 5,000,000 5,000
202 O4dl 9,800 9,800 0
01 =Wobl 9,800 9,800 0
Od=zsta 223 0l 5,000, 000& 5,000
Odzsatsl22dg UHz=E0l
60,0003 4 H x4 x53] 4,800
206 M=l 5,260 5,480 A220
01 M=l 5,260 5,480 A 220
OFZH—¢ 45,0003 x6 S *23| 540
OdUE AsSAERY 50,0003 x20 1,000
Odugd 3297 120,000 1S 62 720
OJIA 2+ & HS7E 1,000, 000& 1,000
OYSANE M1 1,000,000& 1,000
O&MIIMz7 1,000,000 1,000
401 Al &BIZ20HYI 80,408 23,500 56,908
01 Al&H| 80,408 23,500 56,908
O==2dZ3&Y 3,000,000& * 14! 3,000
OS 4" & =3 At 28,0003 »836m* 23,408




I

He

o

0x

s25se 23 (S5 &)
M-S (3) - HRAY - BES Aro e =2
O==Z% AT =HZA 54,000
“AFRAlE B E S AL 30,000,000& » 14! 30,000
2L 6,000, 0003 * 14! 6,000
-HEHNAHALX 3,000,000& =14 3,000
“HEAH(EA)DA L SHE S SUA
o 15,000,000& * 14! 15,000
405 KHaHE S| 4,450 2,350 2,100
01 XA ESESH=HI 1,450 1,350 100
OEs4d =257¢Y 1,100
~HED(UE) 700,000& «1CH 700
~&XH2XI(20 4 ) 150, 0003 * 1 CH 150
—&ZAXI(10218) 250,000 = 1CH 250
Ol 2« 350,000 1 CH 350
02 EM-YHI 3,000 1,000 2,000
OFEZNA TAFY 10, 000& * 150 »23] 3,000
odo Basts 2at 367,258 293,284 73,974
& 23,200
Al 344,058
EHdu=s & SE28M 23 259,895 256,621 3,274
201 Lt 229,181 236,789 AT7,608
01 AtS2eld] 226,766 232,540 ANBTT4
O1.2er=24] 27,390
—USYUSFA Jet=ZH| 2,000, 000& 2,000
- us BEE NE 11,000
TEE 150& %20, 0002 *23] 6,000
*EAH 500& 2,000 23] 2,000
=R 50,000& 3071 *22| 3,000
NS 225 L W2y oY
5003 *1,50001 x2& *23| 3,000
-Hdu=s HEN & HEE AH
30,0003 60 »23| 3,600
s J3E 2 200& *3,000 *23| 1,200
—HELE A EN QA
400& *3,0000H 23! 2,400




018012 FH(ASZN/2S - FEL0S)
0i4 0 WSS A3t (£ @8
_ _ _ N E
SA-EFH - SA(SAH) - MREAY - BES Off &F K ‘Oﬁ,‘\ja‘; Hws2
—SESHN 2Y Luss| 1,500,0002 1,500
-~ A 7Y 30,0002 * 1574 450
-Si& S0t 29 LeA=Hl 2,000,000 2,000
~CARA JIREED] AR O30S
20,0002 %123 240
03.29+Y 195,560
~SYN2RAVS ALY
70,0002 424 23| 560
“DSAA BHIHN 02 AALY
70,0008 *4% 43| 1,120
—SEAALY 3,920
el= 200, 0002 22 1 Al 2443l 1,600
g 80,0008 522 *1 Al 2t 43| 640
" o4t 60,0002 2% 43| 480
-k 15,0002 *200H *43| 1,200
B A G 189,960
"2HDYDS AME
30,0002 x2 Al 2h+167 #3574 BH+23] 67,200
"X L JIZRS YAE
30,0002 ¥4 A| 24+20% 1404 BH<23] 67,200
SIMSHA LAE
30,0002 *6 Al 2 1635 +8 7} BH23] 46,080
"RHASH BHOHS MBS AR
30,0002 2 Al 2h+40H BH+6 3 %23 2,880
StE S0t AR
50,0002+ 117 Bt 122 6,600
O5. 22| 2,016
“DSHY ALK Z4
7,0002 +4 % x62 + 122 2,016
06.2xt2 1,800
-GEDE IS NYUR
450,000 %271 +2JH 8t 1,800
02 ZZ2YH| 2,415 4,249 A1,834
O1.2322YLHA 684
AR EE (AN +24 Sy o A
2) 5702 +600% 23] 684
O2. 12t 1,731




(=
Heolsd LA (AMSEXN/ER - HELAHYE)
g9 gdstg 3t

M- B8 S2(3H) - HRAY - B S Aro B HRE2
-2cold 2 HEs A=
6403 *52m* x 1Al 2+ %104 *0.5 1,731
202 OiHl 4,800 4,800 0
01 =Wobl 4,800 4,800 0
On=szg z+gd ol
60,0003 4 x4 x53] 4,800
206 M=l 8,800 3,680 5,120
01 &l 8,800 3,680 5,120
Ozgtudi=s 224 I 2+
40,0003 *x25J1 Bt*23] 2,000
OXA & Jlsus 2248 JINMN 72
70,000 *20J1 Bt *23| 2,800
OZEHUE T2 )8 FU(ZEL CAD, N
AFSIHN) 2,000,000 2,000
OWEIZEHHLE I 2L (45)
2,000,000 2,000
301 getEazg 7,814 10,052 AN2,238
09 3UZRRIABAZ 3,194 6,212 A3,018
O34ZFRA 3,194
-JlE3 88,0003 1H«12& 1,056
-=AlH| 5,000& x 18 +x22 x 122 1,320
STR=1s ] 2,000 x1H»22 x 12 528
-0l =l 130, 0003 1 x23] 260
-Gt g==el 15,0003 x1Z+2 30
10 HAAHIEANS 4,620 3,840 780
OGADS +2URN SSEAT 4
7,000 x150H *23| 2,100
OWdW=s A L =24 2SSAMI
=4 7,000 x409 *43| 1,120
OBSAA DR Y 319 HAT IA
7,000& x100% *23| 1,400
405 XH&HF SHI 9,300 1,300 8,000
01 Xt =SFHSHI 9,300 300 9,000
OALIB{ &) 8,000,000 = 1CH 8,000
ONMA >HE 1,000,000 *1J4 1,000
OHM%a JtAEX] 300,000 = 1CH 300
Ols.sA.00480Us 22 24,003 23,663 340
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EAM HdEstal 2

BB 04012 SN (AMBRX/2S - HEL0A)
o9 0lgo BASS 23t (eH9l: 22
_ _ _ Muo
SN -HH - SA(B) - MRAY - BES 0f Ao Sl ko HRs2
“HAI2E 2 2 Ul g2
450,000& »22l 900
-2 S0tE Y ez 50,0003 =304 1,500
03 &Ar2ZHI 7,000 0 7,000
O=H 222 M 5,000
-clEH 2,000& +1,000% 2,000
—OHLY & 3,000& *500% 1,500
S (L) 50,000 =104 500
-8 20H(0H) 100,0002 1074 1,000
O0IBIE &AL 2ZH| 2,000,000& 2,000
206 M=l 5,000 0 5,000
01 Mz 5,000 0 5,000
O&AlE TH=HI 300,000& =104 B+ 3,000
OMEuw4 M=l 200,000 = 10J4 gt 2,000
301 ptsazg 1,960 0 1,960
10 SAIAHIEAS 1,960 0 1,960
OSRABISEN =t ESZAX 24
7,000 100 »23| 1,400
OB ISEH I HSBAR 4
7,000& *40E 23] 560
Olsodsla 2H(BX) 10,000 10,000 0
= 3,000
Al 7,000
201 Lt 3,560 4,880 21,320
= 1,068
Al 2,492
01 AtS2eld] 3,468 4,880 AT,412
O1.2et==24] 3,300
01045 DS
15,0003 * 100 *2 7 & 3,000
= 900
Al 2,100
OISHMET EBHA X
50,0003 204 £ *35 300
= %
Al 210




EAM HdEstal 2

M2 (401 B (ASI=X/ES - HSL0A)
Sl 040 BASt 23 (5 &2
SA-BH.C(BH) - HRAY - B 0ff &+ o4 glggi; Rz
06. Y%= 168
OISOl E 2 FHIY X 168,0002! %141 168
= 50
Al 118
02 ZZ2YH 92 0 92
O1. 2222 YA 92
SOIS0IHEB AN SIS Mof2H
2 92,0002 * 14! 92
= 28
Al 64
202 Ofl 90 800 160
= 288
Al 672
01 =Uhot 960 800 160
OO0IS0I&3Z 20t
20,0002 x22x20} 4 * 1231 960
= 288
Al 672
206 Mzl 5,000 4,320 680
= 1,500
Al 3,500
EETI 5,000 4,320 680
OOISOIAEIZ HEH 50,0008 x5Z *20H A 5,000
= 1,500
Al 3,500
01 YerBAZ 480 0 480
= 144
Al 336
10 SAAHI2AS 480 0 480
OOIS0ILE P HBSSYURD
3,000 +80% *2TH A %13l 480
= 144
Al 336
CEIEREICES 8,000 3,000 5,000
= 2,400
Al 5,600
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22
J2

=1
R
121

HEFHGXJEEH 2H(EBX) Al 15,000
101 1A 20,295 20,295
& 8,118
Al 12,177
10 JIZAN22ASES 20,295 20,295
ONEHSXNAHME FHHScHH 1A 20,295
-5 1,300,000& x1Z x12E 15,600
S 6,240
Al 9,360
-AEE JI2RE=S 15,600,000& *9.45% 1,475
= 590
Al 885
-E &= 1,300,000& 1,300
S 520
Al 780
-04H| 20,0002 x2&H x42| x 12 1,920
S 768
Al 1,152
201 et 4,705 4,705
= 1,882
Al 2,823
01 AtR2cidl 4,705 4,705
O1.¢8t=2H| 3,205
- EFYNAME 2S LEt=EH|
2,005,000 2,005
< 802
Al 1,203
—HEFSXNALE AHAIE K
600, 000& 24 1,200
< 480
Al 720
03.28=¢ 1,500
-HEFYNJANH HY - FHEHI DA
At 100,000& *5A| 2+ +32] 1,500
5= 600
Al 900
KNS AR KJAIS (EX) 24,000 24,000
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A HEE=te 2

I 01802 UL (AMSZN/2S - HEL0Y)

o9 0lgo BASS 23t Rk
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 glggf; HRs2
NS REHAT 2N BAL (2 X) = 7,800

Al 16,200
201 LEH23H] 24,000 0 24,000
= 7,800
Al 16,200
At 22l | 24,000 0 24,000
O1. L8| 2,400
~HIRBRIA KRS (208 DI
30,000 40 1,200
= 390
Al 810
~S MRS A (348 DI
20,000 60 1,200
< 390
Al 810
03.28=Y 21,600
“IRéEA RHSUEE BAR
30,000& *3Al 2++602| x2JH Bt 10,800
< 3,510
Al 7,290
SSMRITA SHB BAR
30,000& *2Al 2++602| #30H £t 10,800
= 3,510
Al 7,290
S0IeX A2l HENS 501,105 482,823 18,282
= 253,484
& 81,223
Al 166,398
2200 AIBIH2 DS 60,948 38,370 22,578
201 Ygredy) 17,668 16,790 878
AtS 2teltl 17,268 16,540 728
O1.2r+2H| 6,000
~ZE0IU0IE DRASFE LuaY)
2,000,000& 2,000
~ZE0T0M NHESASY
250,000 x2 7 A *62 4,000
03.28=Y 6,300
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A HEE=te 2
M o8y 2H (ARSI
=

SHol: O 2

SN HB SR (BIH) - A - B S 0l &b S D=2
mons TASY
30,0003 x3H «2Al 2+x102] 1,800
A EEWNE DAE
30,0003 *x2Al 2tx5&x153] 4,500
O5. =&l 2,268
“ZE0IDIA TR OFA22T S
7,000 *3H 9L 128 2,268
O6.&x= 2,700
ZE0IDI0Y HEANESS HAYY
450,000 »3CH 23] 2,700
02 2324l 400 250 150
O1.3E23ZHA 400
-RURS 250& =800 0K »23] 400
202 OdHl 2,880 2,880 0
01 =Wobl 2,880 2,880 0
OREOINGA DEXE AT
60,0003 3% x4 x43] 2,880
206 M=l 5,000 6,800 A 1,800
01 MZ bl 5,000 6,800 21,800
OZE012Hd HNPuW= MEHl
50,0003 x25F 25 2,500
OZE012Hd Al HE0E =4
5,000& *100& 53| 2,500
301 Lptsazg 25,400 11,900 13,500
10 SAIAHIEAS 10,400 11,900 21,500
024 BXX +¢
10,0003 x5 90 Al 2t*20H & 9,000
OMBIHSDS HY L 224 IHAZAK
EE 7,000 x25% »4 3| 700
OAZI B EWS ZAteo 4L 54
7,000 x20H x53| 700
12 JIEI2 A2 15,000 0 15,000
OZE0I2UXINE SMESNE
150,000& *100H 15,000
307 glzZtold 10,000 0 10,000
05 GIZtREZ 10,000 0 10,000
OZE0I2IX JtsAHE 10,000,000 14! 10,000
C23tE H2usSAYE 2I(EX) 292,128 196,326 95,802
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01’393—.“ AL (AMASA/ES - ISLAHY)
HAZS0I0X AIBIRSDS (ool e
_ _ _ Muo
2N -3 - c2(3H) - NEME - HES Ol & 'oﬂ/'\_FOH Hns2
O2stE 42DSAY 2H(2X) 2 204,484
= 43,817
Al 43,827
101 QI24H] 259,428 169,363 90,065
2 181,594
= 38,913
Al 38,921
10 JIZHM22NsSe+ 259,428 169,363 90,065
OLSDSAIY 22| SAL 22,788
-=23 1,400,0002 * 14 122 16,800
=2 11,760
= 2,520
Al 2,520
AR J|B2Y2 16,800, 000! *9. 45% 1,588
2 1,106
= 237
Al 245
—E| X2 1,400,000 1,400
2 980
= 210
Al 210
~ R =0 Y 20,0002 ¥ 12 *62 108! 1,200
2 840
= 180
Al 180
=Y ASDE HANY
60,0002 *12 *32 103 1,800
2 1,260
= 270
Al 270
OLSDE T A 236,640
&g 800,0002! x29% * 102 232,000
2 162,400
= 34,800
Al 34,800
~gE2 232,000, 0002 *2% 4,640
2 3,248




Of S 012 QrM (ABIZ X /S S - HEL0IA)
HEZ2ES012A Al BESW= ? A
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
= 696
Al 696
201 BH2EH] 18,490 AN4,673
= 12,943
& 2,773
Al 2,774
01 AtR2teld 18,490 A4,673
O1. get=ZH| 18,290
-LZUSAMY =2 M
70,000% 54 *23] 700
= 490
= 105
Al 105
MENSEX ARE 7Y
265,000 2&*33] 1,590
= 1,113
< 238
Al 239
- | 1,000,000& x4& *4 2] 16,000
= 11,200
= 2,400
Al 2,400
03.28=¢ 200
~HEAARIE S 100,000& »2H 200
2 140
= 30
Al 30
206 TH=HI 4,560 4,560
= 3,192
= 684
Al 684
01 M=z 4l 4,560 4,560
OxE58s M=l 50,0003 *30JH x23! 3,000
= 2,100
< 450
Al 450
OME =2 M=t 6,500& x120% *23| 1,560
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A HEE=te 2
M o8y 2H (ARSI
=

SHol: O 2

SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
—LALTLYLM 7Y
10, 000& 200 *23] 4,000
= 1,200
Al 2,800
03.2&8 =4 52,000
-ER01DS TALY
30,0003 x8H 2 Al 2+ 123] «8& 46,080
= 13,824
Al 32,256
~MEERINSE A=Y
30,0003 *2A| 2t*43| 8 1,920
= 576
Al 1,344
22012804 NHHu=E ESWA =
500,000 »1H «8& 4,000
= 1,200
Al 2,800
202 OdHl 2,880 0 2,880
= 900
Al 1,980
01 SLHAHbI 2,880 0 2,880
ORSWIAIY ALEZ0fH|
20,0003 x3E x6 2 x8& 2,880
< 900
Al 1,980
206 M= dl 3,000 3,897 AB97
& 900
Al 2,100
01 MZHl 3,000 3,897 AB97
O2sda Mz 5,000& *200H 33| 3,000
= 900
Al 2,100
301 Lptsasg 5,400 17,670 A12,270
= 1,620
Al 3,780
10 SAIAHIEANS 5,400 17,670 A12,270
OZE0I2UX SLAMHENE &4 AU
o 60,0003 x 10 23| 1,200




Of S 012 QrM (ABIZ X /S S - HEL0IA)
SEE0IRIT MBIHSDE (EH9): & 2
K- E3 .S (3H) - MBAY - B Ofl A o4 gggf; HRS2
== 360
Al 840
Ost=H&2 A & X|ASH HX 0
60,000& *10H *13] 600
== 180
Al 420
OZE20|004d MHHUE WA BEX X
= 10,000& *4H 90 Al 2t 3,600
o= 1,080
Al 2,520
SSIIIEX M 2H(EX) 70,009 50,000 20,009
= 49,000
= 10,500
Al 10,509
101 214 d| 44,409 19,744 24,665
= 31,080
== 6,660
Al 6,669
10 JIZHZ22XANsSES 44,409 0 44 409
OCISSIIE XN HE SAHR 44,409
=2 1,450,000 x2H 12 34,800
= 24,360
== 5,220
Al 5,220
“AUEE J|2A8e2 34,800, 000& *9.45% 3,289
= 2,296
== 492
Al 501
-£&83 1,400, 000& 1,400
= 980
== 210
Al 210
2= 20,000& x2H x5« 12E 2,400
= 1,680
== 360
Al 360




A HEE=te 2
M o8y 2H (ARSI
=

SHol: O 2

il
SE
b
.
o
40
5
=
x
il
S
&
0x
Jo
=
z
12
m
i
12
=
EJ
Ol
0

-s2dus ¥ A28 ol

60,0002 *2 x32 +73] 2,520
= 1,764
= 378
Al 378
201 Ler2%y)| 8,180 13,806 A5,626
= 5,726
= 1,007
Al 1,207
01 At=atelt| 5,680 12,606 16,926
O1. Yt 3,780

-OUER3IIFANJHEH AMHEES M

3,000,000% 3,000
2 2,100
= 450
Al 450
GRS XAME JIE A2 7Y
195, 00021 %255 +25| 780
2 546
= 17
Al 17
O3.29+4 1,900
“ZEOIQL AR0 SH4Y
30,0002 532 » 10A] 2¢ 900
2 630
< 135
Al 135
-DE2lYeY YALY 100,000% *103] 1,000
2 700
< 150
Al 150
03 A2 2,500 0 2,500
OLHESIIE £J182 L BIMI| (3
2,500,0002! 2,500
2 1,750
= 375
Al 375
206 THEHl 3,200 3,400 A200
2 2,240




Of S 012 QrM (ABIZ X /S S - HEL0IA)
GIEZEO0IRIR ASINSDS (EH9): & 2
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
206 M=l S 480
Al 480
01 M=z 4l 3,200 3,400 2200
OZE0I2UXINE NSO H2F M=
400,000 +82] 3,200
= 2,240
= 480
Al 480
301 Lptsazg 7,720 9,100 A 1,380
2 5,404
& 1,158
Al 1,158
10 BAIAHIENS 7,720 9,100 A 1,380
OZE0I2A HEL2Y T2 2 2t
2,000 *60H 504 = +435] 2,400
= 1,680
< 360
Al 360
OUEIIIR T2 24
7,000& *30E 43| 840
= 588
= 126
Al 126
OZE012HY ti*A4 T8 &ML 2
= 7,000& *50H *83] 2,800
= 1,960
= 420
Al 420
OUESIIEXNAALEH SALL 24
7,000 «2F 10 122 1,680
= 1,176
= 252
Al 252
307 QI2t0IA 6,500 0 6,500
= 4,550
& 975
Al 975
02 fltFatEx 6,500 0 6,500
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Of S 012 QrM (ABIZ X /S S - HEL0IA)
GIEZEO0IRIR ASINSDS (EH9): & 2
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
OZE0I20HY i ANEHH =X XA
500,000& x50 =& 2,500
= 1,750
= 375
Al 375
OUEZIIA T2 24| K&
200, 0003 *53| *4J 2~ 4,000
= 2,800
= 600
Al 600
ZE0120E 2 HAMY XA (ExX) 5,000 6,900 21,900
& 1,500
Al 3,500
201 ZBH2EH] 3,600 3,900 A 300
= 1,080
Al 2,520
03 HAr2EHI 3,600 0 3,600
OUZZHA HH=getitd 2208 2
3,600,000& 3,600
= 1,080
Al 2,520
301 erEd=z 1,400 3,000 21,600
& 420
Al 980
10 BAIAHIENS 1,400 3,000 A 1,600
O =ds&tiortg A EItA =4
7,000& 200 1,400
= 420
Al 980
CH2StE0IHE R ERFE AN MESHI(EX) 5,000 0 5,000
L= 5,000
201 ZEH2IH] 500 0 500
= 500
01 AtS2&cldl 500 0 500
O1. 28424 500
-SELM, R (2RES) 7Y
50,000& 100t & 500
= 500
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_ _ pSNE e
SN EB -GS - MBAY - BES 0 & 24 G HRE2
01 YL 4,500 0 4,500
= 4,500
10 BAMHEAZ 4,500 0 4,500
OZ S S| 30,0002 *10% *152 4,500
= 4,500
CENRZAES 25 62,342 51,840 10,502
& 5,700
Al 56,642
CETRAESHE 29 43,342 31,840 1,502
101 oIty 22,650 13,000 9,650
10 JAHNIEZNSES 22,650 13,000 9,650
OZE0IRNE DSUTASE) L DS
(oY Rel &E) 22,650
I 200, 0002 * 158 *72 21,000
-28 o 2O 10,0002 *15% 1,650
201 Ysr2gy) 10,500 8,340 2,160
01 At el 0,500 8,340 2,160
O1. 28148t 7,200
SOl AAT TRZ AR
2,000 1,500 23| 6,000
S AAX 22 HE ADE
50,0002 * 123 +23] 1,200
03.294+% 1,500
S AAT 22 MY DSAME
30,0002 *2AI 24#253] 1,500
06. %2 1,800
RHESAR SELEE]] L 2R3
VPR3 450,0002 x2CH 23] 1,800
01 LY 10, 192 10,500 A308
10 BAMHEAI 10, 192 10,500 308
ONZARY RASAK 34
7,000 %2 %2002 2,800
ONBETAHASY NAZAKX 24
7,000 %2 %2002 2,800
OOELAT "82" HZ HEZSAMT 24
7,000 +8% *323] 1,792
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’;;‘ja—ﬂ‘ AH(MIEX/ES - IIFLHY)
HUASNEES B3 k)
M- &9l (3H) - H2AY - BHES Aro e 2
OZE0120d NsdH S2J/8 =4
7,000& *4Hx100 2,800
ATIASAMESHH 29 (EX) 10,000 0
= 3,000
Al 7,000
201 Lpt3H| 4,250 A 1,950
& 1,275
Al 2,975
01 At 2eld] 2,250 A 3,950
O1. det=2H| 1,300
-AN2Eskht EES s MEH
40,000 204 2~ 800
== 240
Al 560
-AEES IIEUHHE M 50,0003 x45 200
= 60
Al 140
-AHESK IE HE 3002 *1,000= 300
& 0
Al 210
O6.dxt =z 950
-HtXt3l &9 Xt 100, 000& *5CH 500
== 150
Al 350
-AEASAH E=0g 4 Xt X
450,000 = 1CH 450
== 135
Al 315
03 &Ar2ZHl 2,000 2,000
O askUs olHE 2,000,000& 2,000
& 600
Al 1,400
301 YotEaz 5,750 3,250
& 1,725
Al 4,025
10 WAIAHIEAZ 5,750 3,250
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A HEE=te 2
M fdod 2L (ASSEX/ES - IELAHA)

Ol OIS TESAES A (el &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
O=gsias 2asl 24
7,000 *26E! x 100 & 1,820
< 546
Al 1,274
Os=2dEs)| =4 7,000& *85H *23| 1,190
o= 357
Al 833
OX2SAHE WAL 20,000& »60H 1,200
o 360
Al 840
QOHAIE TS A A 7,000 *55%H x4 3| 1,540
o= 462
Al 1,078
HAEXFEssT2)2 X/A(EX) 6,000 6,000 0
= 1,800
Al 4,200
206 M= 6,000 0 6,000
= 1,800
Al 4,200
01 MNZ=bl 6,000 0 6,000
OX2ASAtES S#HAF THEHI 500, 000& *123] 6,000
= 1,800
Al 4,200
A2 HEX2AML DE(EX) 3,000 3,000 0
& 900
Al 2,100
201 B2 AH| 1,600 3,000 A 1,400
= 480
Al 1,120
01 AtR22ld] 1,600 3,000 N 1,400
O1. L2 800
NSk NS oM
2,000& *250% 500
o= 150
Al 350
NSk nes =22 i
50,000& 63| 300
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A HEE=te 2
M fdod 2L (ASSEX/ES - IELAHA)

o9 GIANASAES 245 CRRE]
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
= 9
Al 210
O3. 2494 800
-NESH ] ZAY
200, 000& x4 Al 2t 800
< 240
Al 560
301 e AS3 1,400 0 1,400
= 420
Al 980
10 SAIAHIEAZ 1,400 0 1,400
QUEIIA A 7,000& 200 1,400
& 420
Al 980
HESHHH (KA 233 2)(JIEH/DIIE 172,920 179,455 16,535
QIHESHHI (WA 23t H) 112,763 109,818 2,945
Folda2H| 90, 189 88,789 1,400
101 Q14| 87,669 86,269 1,400
03 HHZAH| 3,120 3,120 0
OHIAZE 130,000 x2H x 122 3,120
04 WESEXH| 2,880 2,880 0
OdIAZEH 120,000 x2H x 122 2,880
05 Y&ESIHHI 4,142 4,060 82
OFIAZEH 41,415,000&1.2/12 4,142
06 JHAHRXI&HYI 6,917 6,779 138
OHJAZEH 41,415,000& *x16.7% 6,917
07 HJE A 1,956 2,143 N 187
OFIFZF 41,415,000 %17/360 1,956
08 JIEIAE% 68,654 67,287 1,367
oF-EEE 68,654
=3 1,725,600 x2H 12 41,415
A2 41,415,000 %0.95/12 3,279
s 1,920
° B K 40,0003 x2H x12& 960
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2N HE 255 2
mMa: HESAHY| (0618 2552) (OIEHIIE
CHel: QA2 M| (014 255 2) CRRE]
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
CEUINE 20,0003 x4H x12& 960
- X &G 30,0003 x1H «12& 360
A 2G JAFZ2(20~25E 0] Bt
110,000 x2E x12& 2,640
-AIZ2HI 2824 6,342% x2H x50 Al 2t 12 7,611
022824 16,9122 » 13 «365 6,173
-52224+g 47,7752 %1241102 5,256
204 RA24sHAYH| 2,520 2,520 0
02 & Z2E2ZXH| 2,520 2,520 0
OFJAHE ANZEXH| 105,000 x2H x 12& 2,520
SEA0E2AY| 22,574 21,029 1,545
101 el H| 18,374 16,829 1,545
09 2IHAZ2EXE 4 18,374 16,829 1,545
O A2 18,374
A== 29,010 1 x300L 8,703
-&02 725,250 18 *300% 2,176
-HE S| 725,250 «1H %« 120% 871
-WSESE2 x| 30,0003 x1H «12& 360
pmag 480
CHH SR A 40,000& x 1+ 12& 480
PN e 29,0108 » 1«20 581
-=5 G 29,0103 x 1«52 1,509
-AZ2ERI2 24 5,440 *1H *x22 A 2tx 12& 1,437
-H I AlH| 80,000 x 1 x12& 960
-JMH 2 x| 50,0008 x 1 x12& 600
-2EIHAS 29,0102 » 1 x4 « 122 x50% 697
203 YL2F&H| 3,000 3,000 0
04 RENSIELER=AHI 3,000 3,000 0
OBASHALF=EH|(EH:13Y)
250,000& «12& 3,000
204 RAP4sHAH| 1,200 1,200 0
03 SdELR2LE=H| 1,200 1,200 0
OFFA LS =H| 50,000 x2H x12& 1,200
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EAM HdEstal 2
A HH2ABH(HLEZ582)(JIEH/IIE)

JI23H(HE 258 2) o)
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
Jl2ZHI(HE 2353 2t) 60,157 69,637 29,480
FA2EH| 25,077 20,701 4,376

201 ZEH2EH| 25,077 20,701 4,376
01 AtR2&cldl 12,440 8,435 4,005
O1.28t==2H| 5,820
-EAE2Y LEt=ZH] 3,280,000& 3,280
-ENE2Y HMAEE 2,540,000& 2,540
03.28 =+ 4,040
-2 X 40,0003 » 1H 24 960
-=Z 40,000 *1H*77 3,080
O4.11 =l 330
-HEEE 330
s 130,000& +2& »135] 260
Skl 35,0003 «2H %13 70
Ob.=&H 2,250
-RFA2YE =€ 2,250,000 2,250
02 3524 12,637 12,266 371
O1.3E23LHA 8,136
-EAE2E B3 1,536,000& 1,536
-Hates 500,000& *12& 6,000
-NSTHA(LAESEXRL) 300,000& 13| 300
-AsiHEEE 300,000& *12] 300
O4. Xt& & et 4,501
-AESE 4,501,000& *1CH 4,501
S0 28,080 28,080 0
202 Od4Hl 28,080 28,080 0
01 =LHAHI 28,080 28,080 0
OFRYFFEAN 20,0003 13 9«12 28,080
Rt o 225 S| 7,000 20,856 13,856
405 KHeHH SHI 7,000 20,856 A 13,856
01 XA ESESH=HI 7,000 20,856 A 13,856
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AN HdEZ3tal2
M HHE2IZHI (L2332 (J1EH/DIEH
&l JI2ZH(0E =255 2)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 i
OAZY HIUQEZME ¢l
5,000,000& = 1CH 5,000
Ousg 2401013 =+ 1,000, 000& *2JH4 2,000
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